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* @I‘ﬁﬂﬁﬁﬁﬁi‘.’ing an example of each distinguish between a Vertical and Horizontal
. :i-‘ 1] (5 marks)

el o merger.
L Joos - .
D). ;Lompany B is a key play in the Food Industry. It is considering acquiring
b5, company C and subsequently merge their operations after the merger.
-i44:%: > After approaching Company C, the shareholders of Company C have
%27 indicated that it could decide depending on the mode of payment for the
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whsst - Acquisition. .
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S - Additional information regarding the two companies is as follows:-
it IR Company B Company C

g Yl s ““Market price per share Sh.150 Sh.90

Tty G 4k NO. Of shares outstanding 1 Million 0.5 millian
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4. Estimated synergies from the acquisition amount to Sh.16 million. The

’ ;;;;fgg;ﬁé_sh_areholders of Company C-have further indicated a price of Sh.120 per
: fisis Share which can be paid either via cash or by shares of Company B.

daagar” .
Vot yRequired: . ’ gE v
Calculate the NPV from the acquisition for Company B if
B itis acash acquisition (4 marks)

etk f i) stock acquisition _ (5 marks)
2% 8 m&slu}. if you worked for an investment bank advising Company B would
.'?,;.Q‘Lg?i«j’éégm‘ﬁ . you negotiate for a cash or a stock acquisition? If instead you were

%&%‘%’tﬁhr advising Company C, what would you negotiate for and why?
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c) Sagat Lid is an all-equity company and its cost of equity is 12%. Micrd %td
is similar to Sagat except that it is leveraged, financed by Sh.100,000, 3%
- debentures and 100,000 ordunary shares whose market price is Sh.1.50

per shares.

Required: ' '

Calculate Micra Ltd's cost of equity and its We|ghted average

cost of capﬂal _ , _ (7 marks)

d) -Suppose a company has mvested in a portfolio consnshng of four company
stocks as follows.

Comgany Stock ' ‘ Investment Amount Stock beta

A Sh.40,000 : 1.5

B ' . Sh.60,000 g — 0.5

C ) Sh.100,000 1.25

D - & ‘ Sh. 120 000 0.75

Calculate the Beta of this portfollo : : (4 marks)

Q2. TLC Ltd is a key player in the Telecommunications sector. Mr. Kaligola is an
X investor who owns 10% of shares of TLC Ltd. The investor would like to know if
he will receive any dividends next year from TLC Ltd. You do not know how

much dividends will be paid by the company but you are provided with the
- following information.

-1 The company- ‘has’ 12 million shares outstanding.
¢~i2. The company-adopts a residual dividend policy.
3. The company has an optimal Equity Debt ratio of 1.5

-~ 4. ‘Expected Net Income next year is Sh60 million and the planned capital
budget is. Sh80mlll|on St
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2% Reqmred. bt e '
= a) What is residual dividend policy? (2 marks)
};_:‘-' b) - Calculate the maximum funds available wnhout selling new equity and
aE5 i,,-:malntammg the above -Equity debt ratio. (4 marks)
s Will TLC pay any deends? Calculate the dwndend per share and payout
b "" atio. v : (7 marks)
4" How much wnll Kahgola recelve? , ' . (3 marks)
‘Whait is the actual borrowing in (c) above? ‘ (1 mark)
Would dividends pald change If the net income forecasted is Sh40 million
7 instead? . : (3 marks)
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N C_c;mpany wants ‘to replace a machme that was acquired 4 years ago, ata
-";?urchase price’of Sh550,000 to purchase and a further ShS0, 000 to transport it.

: .'The machmery had an expected life of 8 years when acquired and a nil residual

“'yaltie :at"the ‘end of its economic life. This machine can be sold at a current
< market value of Shs380,000 today The company uses straight-line method to
deprecrate its assets




